Glass Standoff [Ji0 0000 00000 00000000 00000 00 BO000 000000 00000 000000 00000 00000 00 00000
000000 00000 0000 000000 0O00000 CO00000 DOO0OCD Oo000000 L0000 00000 000000 0000 00 0o0coa
00000 0000000 0od -0oo Loo oo boodooo ool ddooodo fdoooo boo dodooodoo Oo fooooo Oo bodoo
(00000000 COOODO0 ddoo0on Co Doonoo Dodoa

KEBILF ti°

o’




L
¥
1
!
1
L
L
L
L
§

(00000 DOOO0OOD DooOo0a:



- STAND OFF

Part No. Material Finish Body ' Bolt size
' ' | = 30x10; 30x25mm |
= SF-30 = 40c10; 40x30mm = M10x120 bolt
= SF40 =AISI304 = 3Satn = 50¢12; 50x30mm = M10x72 wood screw
= SF-50 = AlS]| 316 =Miror = 50x12; 50x50mm = MBx100 bolt
= SF-50A = silicon rubber gasket = M8 x72 wood screw
included
[ N e T . =
Part No. Material Finish Body Bolt size
= hollow type
& s = AlSI 304 = Satin = 38x7.5;38x38mm = MB8x70 hexagonal
=AISI316 = Mimor = silicon rubber screw
gasket included
Part No. Material Finish Body Mounling plate size
® 50x10:50x30mm
= AIS| 304 = Satn 5
SF-50T shisinie] e = silicon rubber 200x%100%10mm

gasket included

(00000 OO0 d0o00oo Dodoodo doooo 0oood 0do 0 0Rhooo dobodood dofoodoo Dodoo boo 0o dood.













: j,...._ifffi. N J

J..J;.J...-r..u... i

,

e . o
: o=
Y o |

i

e

L




(000000 00O






